
1) 42 + 1 - 2

Answer: ____________

2) 54/8 x 69/10

Answer: ____________

3) $55.00 earning 8% compound interest 
for 3 years.

Answer: ____________

4) $228.00 earning 10% compound 
interest for 10 years.

Answer: ____________

5) Simplify 5:19

Answer: ____________

6) 31/9 x 24/5

Answer: ____________

7) Simplify 14:3

Answer: ____________

8) 42 x 19 + 8

Answer: ____________

9) Simplify 10:15

Answer: ____________

10) 112 x 13 + 13

Answer: ____________

11) 33/8 x 37/10

Answer: ____________

12) $110.00 earning 1.8% compound 
interest for 8 years.

Answer: ____________

13) 7 + 18 ÷ 9

Answer: ____________

14) 12/5 x 23/4

Answer: ____________

15) 2 - 4 + 6

Answer: ____________
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16) Simplify 12:16

Answer: ____________

17) Simplify 17:15

Answer: ____________

18) $112.00 earning 8% compound 
interest for 10 years.

Answer: ____________

19) $199.00 earning 1% compound 
interest for 9 years.

Answer: ____________

20) 132 - 15 x 15

Answer: ____________

Total: ___ / 20
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Answers:

1) 15 2) 3719/20 3) $69.28 4) $591.37 5) 5 : 19 6) 832/45 7) 14 : 3

8) 9) 2 : 3 10) 11) 1239/80 12) $126.87 13) 9 14) 317/20

15) 4 16) 3 : 4 17) 17 : 15 18) $241.80 19) $217.64 20)
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